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UNIVERSITY OF NORTH BENGAL
B.A. Ist Semester Examinations, 2018

ENVIRONMENTAL STUDIES

AECCENVS
Time Allotted: 2 Hours 30 minutes Full Marks: 80

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere ta the word limit as practicable.

[ Instruction ]
The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet SET on
the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the candidate will be solely
responsible for it.
Each question has four alternative answers. The candidate has to darken only one circle/bubble on the

Answer-Sheet usmg black/blue ballpoint pen indicating the correct answer as shown below. If more than one
answer / option is found darkened, then the question will be treated wrong and will not be evaluated.

Example : @000
Answer all questions: / 74 2% T&2 W16s / G4 YIHEE B SN fager:

1. The environment includes
(A) Abiotic factors (B) Biotic factors (C) Both the above (D) None of these
ffar wresfe Bommae® 2= -
(A) =ed (B) tg4 (C) Tenz (D) <073 (IAIDE =3
TATERYT T Wi B —

(A) IS BRS (B) Wifd® sr®H (C) Surd@a g (D) @ ufy &g
</l Which of the following is not an air pollutant?

(A) Smoke (B) Carbon dioxide (C) Nitrogen gas (D) Sulphur dioxide
e @ e -
(A) cetan (B) F44-G1% WHiZE (CO,)
(C) AZLHT=A 5 (D) FPTFR TR-THTG
frefeifed wedt @ 1Y HSYP Bed —
(A) gr (B) HRAT $1§ AFHTS
(C) g AT (D) U TTF IPUTES

3. Which of the following is set a method of water conservation?
(A) Rain water harvesting (B) Ground water extraction
(C) Improving irrigation efficiency (D) Avoiding water wastage
e el o waweE cefe a1 -

(A) 3R Fearz (B) 9157 w# fmr (C) (75 a2a Tegm (D) && W6 @Y
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Pr=ifoRaa wedl @ 918 Se—wves o ufEa g - -
(A) 98T T HREH (B) e e

(C) P zerara! fawrar (D) et gHuErTH FH Y
4. Region where fresh water meets salt water is called
(A) Sea (B) Lake (C) River (D) Estuarine
et faf? e o wReTe w e —
(A) 7 (B) = (€)= (D) Gt
wrEf aren gl A e arie 39 €8 -
(A) T (B) ¥t (©) =& (D) &
5. 5th June is observed as
(A) World forest day (B) World environment day
(C) World wildlife day (D) World population day
@ % A TRl A —
(A) R wep i (B) s ot et (C) Pt 7@ fes (D) et wepmet s
s o g fRaw g —
(A) faeg 77 Raw (B) Reg gafavor fRaw
(C) fava a=mroh Raw (D) g e fRaw
6. Noise is measured using sound meter and the unit is
(A) Hertz (B) Decibel (C) Joule (D) Watt
e oS fabr Wil R 91 T 8 9 99 E -
(A) 25w (B) et (©) = (D) i,
Fooll ‘& ey e af ww! (e 8 —
(A) Hertz (B) Decibel (C) Joule (D) Watt
7. Which of the following is a non-renewable resource?
(A) Coal (B) Forest (C) Water (D) Wild life
e @ s-wRwaeman 7 2
(A) Tz (B) %l (©) == (D) T
A e g AT TET TR 8 -
(A) Frger (B) @ (C) urt (D) aofa
8. Chipko movement was started to conserve
(A) Forest (B) Grassland (C) Desert (D) Soil
Toetcat wricsie cafb e e o @ -
(A) =& (B) Trgf (©) ¥ (D) &%
fga! sTEer @1 YA @ @1 Ao an que o —
(A) 7 (B) =i (C) g (D) #reY
9. The Taj Mahal at Agra may be damaged by
(A) Sulphur dioxide  (B) Nitrogen (C) Hydrogen (D) Oxygen
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HAIR TAES OTE L FGH (7 AW A0S A — .
(A) T SR-SFHEE  (B) AZATE (C) ZfErmiE= (D) wfere=
HIRTHT WS Aol HEAATS ANGEE RS 0o Ay & —

(A) HoFY—STF—IFAES (B) RIS

(C) BTEFIoH (D) srafror

Red Data Book provides data on

(A) Red flowered plants (B) Red coloured fishes

(C) List of plants and animals (D) Endangered plants and animals
‘@@ €61 33 (Red Data Book) (8 & ooy g —

(A) 7111 *pore Bfgw (B) % 2089 Wg

(C) ©fgw @ afitia w=ft (D) Remierre Bfgw ¢ 2

Y8 321 g% (Red Data Book) & =1 faifaa simerd o —

(A) AT T B UIET B AR (B) T ST ATSAR

(C) vafim af ugHrg (D) Hdeuvd Safie I oy &% IR
Ex-situ conservation includes

(A) Zoo (B) Botanical garden (C) Germplasm bank (D) All of these
-G (Ex-situ) FRe a1 g foiire za -

(A) Bt (B) fgn Twym (C)wrfpesaE (D) aom Sty

(Ex-situ) ¥iveror 3 o —

(A) fafeararr (B)=T Tl Fen  (C) wHw™ 4% (D) Suda W
Energy flow in ecosystem is

(A) Unidirectional (B) Bidirectional (C) Multidirectional (D) None of these

(A) @ (B) fa (C) =g (D) TR (AR 70
uiiRRerferan = St vare—vd g9 —

(A) T T (B) e (C) fafderga (D) T 9 s
The source of energy in ecosystem is

(A) ATP (B) Sunlight (C) DNA (D) RNA

AESE e Tex zran —

(A) ATP (B) ez (C) DNA (D) RNA
wiRRafas d=m wfdsr e g —

(A) ATP (B) i@l fawor (C) DNA (D) RNA

Drinking fluoride-containing water results in

(A) Fluorosis (B) Chlorosis (C) Minamata (D) Malaria
TG & (10 T 2 —

(A) A, (B) G (C) ot (D) sizef
FARIES Jaa urt froaa-—s 9 —

(A) TarTgRE (B) aeivrefg (C) fAmmarer (D) e ar sy
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Indian Wildlife Protection Act was introduced in the year

(A) 1950 (B) 1972 (C) 2010 (D) 2018

SRS e T W (@ A 21 7 -

(A) 1950 (B) 1972 (C) 2010 (D) 2018

HRAE Tt W FA e anpEr —

(A) 1950 (B) 1972 (C) 2010 (D) 2018
Growing agricultural crops between rows of planted trees is known as

(A) Social forestry (B) Jhum (C) Taungya system (D) Agroforestry
@IS - e Ew T BeA e AT 30 —

(A)TREF TP (B) I (C) P #fe (D) Ffw T
TaEes! wex faw e Sdfes—afe -

(A) TSl @it (B) g9 (C) e womelt (D) F A
The main atmosphere layer near surface of earth is

(A) Troposphere (B) Mesosphere (C) lonosphere (D) Stratosphere
“fqee w2 AT 2 ~

(A) @ (B) e (C) SR (D) ZoFeR
G SRITEd! e =T ATHd! agETsiod TaE B —

(A) Troposphere (B) Mesosphere (C) lonosphere (D) Stratosphere

Both power and manure is provided by
(A) Nuclear plants (B) Thermal plants  (C) Biogas plants (D) Hydroelectric plants

@S =& @ ¥ Toug avl+ o -

(A) *rEaeRe Rge B @ (B) Oieifdge @

(C) Taa T T (e (D) w=Re =&

frfafaaare swida #a g8 ora &9 —

(A) TTTY] A (B) TTdTT TaA (C) @ 41 W93 (D) wiafdga €94
Common energy source in Indian village is

(A) Electricity (B) Coal (C) Sun (D) Wood and animal dung
SR ac =fea e wal -

(A) Rme (B) T (€) e (D) #12 @ &} e
HqRAY T S g S 8 —

(A) Rgeht (B) Brgan © g (D) TS S TGB! A
Sacred groves are especially useful in

(A) Generating environmental awareness (B) Preventing soil erosion

(C) Year round flow of water in rivers (D) Conserving rare and threatened species
‘GG (A (Sacred groves) (4 Roea w1 Tz ~

(A) e sreweE 3 (B) $f¥ 1w afezwsel

(C) 718 TRTOR 4w (D) e @ Remary 2iifia mass
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Sacred Groves &I SUZaT & —

(A) TafaR SIFTEEr Seg (B) 5gra Areperept fAfee

(C) adwiR wrfrarandiar @S e (D) fivat ait waeuwa woiesas! wRewre! Al
Which of the following series is true about energy flow ecosystem?

(A) Producers—>Decomposers—Consumers  (B) Decomposers—»Consumers—Producers
(C) Producers—Consumers—Decomposers (D) Consumers—Producers—Decomposers

ArEerE wfea ez IS cu AR e -

(A) Teritie — s — W (B) Raes — AE — Teoima

(C) Sesma — wE — Romes (D) ¥W& — Beoias — Rumes
uRRerfe T Suife! aeEat e P g7 wser w5 s 8 2

(A) THES —> AYECTE —» SUHIERIT (B) 9EE® —> SUHIEE —> STEH
(C) S1GH —> SUHIGH —> JTHSH (D) STHE — IAGH —> IAUHETH
Most stable ecosystem is

(A) Forest (B) Desert (C) Ocean (D) Mountain
o PRES IS LA -

(A) T (B) gl (C) T (D) 4

wavesr Rer giRferfas @3 81 —

(A @ (B) 7O (C) | (D) vda

Study of trends in human population growth and prediction of future growth is called
(A) Demography (B) Biography (C) Paleography (D) Psychology
TR AT 6 SR 3iE TEIS SIS A —

(A) CoTatalR (B) Icamar® (C) #ifreard (D) LS
A SR iy aif AR Rem @ sy WS -

(A) SRS (B) Sfra= (C) wift e sega (D) wAaET
Scientific study of the interactions of organisms with the physical environment is called
(A) Ecosystem (B) Ecology (C) Environment (D) Trophic structure
2l ¢ O (SIS AR TBETR RSTHIS SHaE A0 —

(A) IrESH (B) arefw (C) e (D) =R 57
S aify e gataRer ) srREEEE! gy 9 —

(A) TRRerfYs @3 (B) wiRRaf& (C) wfaReT (D) gfte &xeT
In general, the Ecological pyramid always starts with the following at the base

(A) Decomposers (B) Producers (C) Consumers (D) None of these
TR ArEeEd e s i were sfye = -

(A) Faes (B) Beri (C) = (D) 4t7% @ADL 74
TR giRkReas fufie @ smerefa 98 870 —

(A) ITEEH (B) SITE®H (C) SuHIEET (D) B Uty B
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A population is a group of

(A) Individuals of a species

(C) Communities in an ecosystem
SR 2 —

(A) 2wifén 3 wmym 7ot

(C) TSI WAGE H2w(w
HEET TR B —

(A) U& yonfae! arferess!

(C) urRRefyesr Toer Gqaras!

(B) Spices in a Community
(D) Individuals in a family

(B) ¥l Geew ewifea i
(D) #ifFam wwsfe afes s

(B) USe1 HHEAP] USfaEsd!
(D) TR @fiaes o

The ‘Environment Protection Act’ was introduced in India in

(A) 1980 (B) 1986

SIS “wffHea e Wik e[S = @ e -

(A) 1980 (B) 1986

(C) 2001 (D) 2010

(C) 2001 (D) 2010

HIREHT qATaRYT WREvT S B go wur —

(A) 1980

Recycling refers to
(A) removal of resources

(B) 1986

(C) reduction of water cycle

AT TS AT —

(C) 2001 (D) 2010

(B) reuse of resources
(D) removal of garbage

(A) TR TR (B) FNR YT (C) TABLHFALA (D) WG SR

QU5 Recycling &1 raeasmar & —
(A) TIETEGTg Berey

(C) STa—eshHT ~g=r Eg

The cause/causes of biodiversity loss is
(A) Habitat loss

(C) Over-exploitation of bio-resources
terafbraTa wow e E —

(A) IFTEa 25 (B) F=eie zont

g e @1 gk gwa swor @ -
(A) UIHfaE THF! BT

(C) S1a wuaTH! s arE

Acid rain is related to

(A) SO, (B) O;

WHAM (Acid rain) 7 0% eeifs —
(A) SO; (B) 0:

Fdy) T v —

(A) SO, (B) 02

(B) WeTEweTs g Sy g
(D) BIENET gETSq

(B) Poaching of wildlife
(D) All of these

(C) e 37»itaa Sreffts 92/ (D) «Twa 5aa s

(B) a=gsigesr s aify amr
(D) wmefieT wa
(C) Methane (D) Halogen compounds

(C) (fite=) Methane (D) mm' st

(C) Methane (D) Halogen compounds
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The main aim of Integrated Pest Management (IPM) is

(A) To destroy the harmful plants (B) To destroy the harmful insects
(C) To destroy the weeds (D) To destroy the chemicals
SPRES (#{% e’ (IPM) 2030 —

(A) =fowa TRrm ap  (B) a3 (Aiwm@ A (C) WOiera @25 A (D) A aws «m
TP Fe FawE (IPM) B 558 329 8 -

(A) THPRS qeevd! A4 1q (B) sTiaR® fasearg A T
(C) Sielt wTwETeTE T g (D) TERAfAS dassary A9 g
‘Silent valley’ lies in the state of

(A) Bihar (B) Kerala (C) Tamilnadu (D) Goa
FHELEG TG (Silent valley) G AIE *iNGHT IR —

(A) Rz (B) wiferTg (C) At (D) cotrt
Silent valley &7 51 JaRTT & —

(A) Rer (B) fierTg (C) Bve (D) e
Coral reefs in India can be seen in

(A) Himalayan region (B) Andaman and Nicobar Island
(C) Goa (D) Karnataka

SRS LRI FUC (7l T —

(A) R oerE (B) S 6 fireea @iet (C) ot

WRGHT T2 G SSH IETS —

(A) fesrera B3

(C) Tar

The source of oxygen in the atmosphere is
(A) Carbon cycle (B) Green plants
AraTE SR S ZEl -

(A) & 52 (B) 7@ Sfgw
AAVEEAT Al B A B 8 —
(A) BTé am (B) BT Sefiaes
Primary consumer is also called

(A) Herbivores (B) Carnivores
eefire A o= @ i v -

(A) geiTeTSl (B) WA

RIS SUHERTaE S —
(A) TTHTEr) (B) wiaTE

An example of tertiary consumer is
(A) frog (B) snake

Y 20w (ST@ R (Tertiary Consumer) Iz 2071 —

(A) T8 (B) 7%

(D) =%
(B) ar=ear= it M &0 w498
(D) FEF
(C) Water (D) Nitrogen cycle
(C) w#1 (D) FZLRICEH b
(C) (D) LA aH
(C) Omnivores (D) None of these
(C) = (D) ST AL 7w
(C) wdETdy (D) B uf Brgw
(C) plant (D) insect
(C) Sfgw (D) cofit
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qfiF Iy e B TS IIAER B —

(A) SIFger (B) §iq (C) S5
Minamata disease is associated with

(A) SO: (B) Mercury (C) NO;
cufba wem “Frmrmr i e -

(A) SO; (FFFR TIREHTT) (B) #i@t
(C)NO; (FiRCRICE CREHTE) (D) pH

Minamata 371 fFrefefea g1 oo fia ofda & —

(A) SO, (B) a1 (Mercury)  (C) NO;

An example of in-situ conservation is

(A) Gene Bank (B) National parks  (C) Zoo

In-situ JRTHC G Swizaet zal —

(A) fem e (B) w8y Ty (C) fofatart
In-situ 1 TIET SETERVT &

(A) o9 = (B) Wi w=IH (C) Faf¥amarr
The number of Biodiversity Hotspot in India are

(A) 35 (B) 4 (C) 18
oA et tatafba; 26716 (Biodiversity Hotspot) 3 3Rt 2¢ai —
(A) 35 (B)4 (C) 18

HIRAHT SHI—utd fafdgar gewe (Biodiversity Hotspot) B+ —
(A)35 (B)4 (C) 18

An example of Biosphere Reserve in India is

(A) Nandankanan (B) Sundarban (C) Jaldapara
SreacEs AR e «a o b Sz 2 —

(A) T (B) Fsaw (C) T=mmsiret
HIRGHT AYSD] YSeT SETELVT B —

(A) TP (B) ¥y=a+ (C) STARTIIRT
The ‘Earth Summit® was held in the year

(A) 1992 (B) 1990 (C) 1989

%A FCAFH (Earth Summit) G %03 WeDs 20 —

(A) 1992 (B) 1990 (C) 1989
oAl e (Earth Summit) &gl 9ys! Ry —
(A) 1992 (B) 1990 (C) 1989

Ozone hole is prominent in

(A) Equatorial area (B) Temperate zone (C) Antarctica
“araT (XY ©h 30T (ANl TR —
(A) Frrt swge (B) =if68irers wwe (C) wrsiben

8

(D) Sre—ya

(D) pH

(D) pH

(D) Botanical garden
(D) Tfgw T

(D) F7fey &

(D) 11

(D) 11

(D) 11

(D) Buxa National Park
(D) 331 &8t Ty

(D) T WY FE=
(D) 2001

(D) 2001

(D) 2001

(D) Tropical area

(D) S8 wwte
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S Qe W A B uEs — E

(A) g a1 (B) ¥idrer &3 (C) seafea (D) T® Hfeaey 83
The main gas responsible for ‘global warming’® is

(A) Oz (B) Halogens (C) CO; (D) NO:
‘e enifilk-aa s willl et o e —

(A) O, (B) JTAE (C) CO; (D) NO;
Global warming &1 &l 4% $U F7 7419 RTRER & —

(A) 0, (B) 8o (©) CO; (D) NO;

An example of renewable energy is

(A) Coal (B) Petroleum (C) Solar energy (D) Firewood
AP (Renewable) &g 9B Swrzae 2 —

(A) F7= (B) (oictferars (C) Ghremifies (D) gl F13
ORHT] SO P IETERVT B —

(A) Prger (B) Ugiferrm (C) ¥R wwif (D) TS
Which animal is worshipped by Bishnois of Rajasthan?

(A) Tiger (B) Lion (C) Black buck (D) Camel
AerEia Rt (Bishnois) 71 (19 21 #jre 3502 2

(A) (B) Frez (C) Fwa 2fael (D) T

e @1 RA¥E (Bishnois) T g1 @7 g@! o RS —

(A) arg (B) foie (C) ®rell fezor a1 577 (D) Fe

An example of a radioactive substance is

(A) Arsenic (B) Iron (C) Thorium 234 (D) SO,

a2 cowfEFa omnda Swizae oot —

(A) ST (B) SRR (C) cerfers 234 (D) SO,
e gEferat veer sarev @ —

(A) 3iF® (B) BelrH (C) Thorium 234 (D) SO,

The main source of energy in a forest ecosystem is

(A) trees (B) consumers (C) animals () microorganisms
&b ITGT AgoTH e e T e —

(A) I (B) FferCur (C) et (D) W9 7z
a1 giRRef® womemr Sofrer e e & —

(A) TaEs (B) ST (© vy (D) geoifaEs
Development but not at the cost of environment is called

(A) sustainable development (B) unsustainable development

(C) non-sustainable development (D) none of these
‘sAfrar wf w08 Tafs T 9z wiew -

(A) FafeRs Tafe (B) o= Eafe  (C) v Sufe (D) a7 Ger=oE w1
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wHReTeTd B AR g Rewers W - 4
(A) @ R ®) s Rrr (€)1 4 REme (D) R of g
49.  The cause of Bhopal Gas Tragedy was

(A) CEC (B) DDT (C)MIC (D) None of these
GoNTe ST IO TR — et )
(A) CFC (B) DDT (©)yMIC (D) at7a PEAME 7
HIaTer T FEE B DR EEA — .
(A) CFC (B) DDT (C)MIC (D) % uf¥ g
50.  The person who coined the term “ecology”’ was
(A) Bufo (B) Earnest Haeckel (C) C.C Park (D) None of these
ety Bl b A e L
(A) g @ Em  (OFBeR (D) e @R
‘ecology’ ¥ F1 Yafiar &1 &1 — -r;
(A) TH @ da OfRiwed (D) o de
51.  The intensity of earthquake is measured in “
(A) Decibels (B) Linncan Scale  (C) Richter Scale (D) Linear Scale
‘ g gt qe = - "
' (A) cefiaat B) P () fbraE (D) B e
qguTerd! faar 19 gErS |@E @ 9e —
(A) SHEa (B) forfam wba (C) Rer e (D) farfrr e
52.  The percentage of nitrogen in air is
(A)21.6 (B) 243 (C)78.4 (D)27.8
AT TRCBITGT *Tore*! AR Ze — ;
(A)21.6 (B) 243 (C) 784 (D)27.8
BEATHT TZEI @1 8¥aY Wfoe g8 —
(A)216 (B) 243 (C)78.4 (D)27.8
53.  Ozone layer is important because
(A) Sunlight cannot pass through it (B) Sunlight can pass through it
(C) UV rays can pass through it (D) UV rays cannot pass through it
o B eyl @B B o - i~
(A) @3 W Tz 7 2 cars #irca =t (B) w3 s fera s e o o
(C) w7 e Tz =i e 7 cre #ima (D) «7 e farw &S e #f4 cars =g =i
“airoirp-—are fEfafaa R sEEdr v — —
(A) g R Tware o wade (B) gia! e vgare o waow
(©) UV faxves wtare fod woo (D) UV faRvies admare e wos=
54.  The process of energy transfer from one trophic level to another is called as
(A) Food web (B) Food pyramid ~ (C) Food chain (D) Trophic level
1121 10
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@ el I O A 93 (A0E 5+ W WE A 20 O 0@ -

(A) A (B) #ica Prifie (C) <) ¥R (D) W) %2
i uibgTeE @ afve oE veer gite wvare el it wRes Sl RN §9 -
(A) @reE e (B) @y fonifis (C) @rea =&en (D) @& w\iR
55.  Deserts harbour the following types of plants
(A) Hydrophytes (B) Epiphytes (C) Mesophytes (D) Xerophytes
RIS (1 4ata W “itea Jm © A —
(A) TREH (B) @iz (C) TTED (D) (STAIES
HOUfHET G TERS! IEE TES -
(A) Hydrophytes (B) Epiphytes (C) Mesophytes (D) Xerophytes
56.  Mangrove plants have the following characters
(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) None of these
WS ST taHE & —
(A) P (B) F1e (C) GBI (D) @z @IAIDE 7
gl qred) fadwar g —
(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) T ufy &g
57. A species confined only to a particular area is called as
(A) Epidemic (B) Endemic (C) Pandemic (D) None of these
3fb «oife aaf [MHE e Fhifes A o = T —
(A) afiefie (B) @t (C) #Tefie (D) G078 (RIALDE T
vger fady gemr urgs yonfaang AhTe —
(A) gfrefirs (B) 3% (C) wrefis (D) B 9 BE
58.  The mega-biodiversity country is
(A) India (B) UAE (C) UK (D) Egypt
ciidia cafboara (Biodiversity) G4 201 —
(A) ©IFS (B) UAE (C) UK (D) otz
gad v faflear wg@r S & —
(A) ¥4 (India) (B)3 ¥ g (UAE)
(C) e JfeRT=A (UK) (D) frr 39 (Egypt)
59.  Algal Blooms are connected with
(A) Biomagnifications (B) Eutrophication  (C) Trophic levels (D) Producers
eara e S (Algas Blooms) 0% 7R et —
(A) Tl (B) ShifFam (C) ¥mrez (D) Teain
Haa @9 B ¥ grEud B —
(A) arpmfAfseeE  (B) $ggbadem (C) gifthd W= (D) ST&®
60. PANisa
(A) Primary pollutant  (B) Secondary pollutant (C) Tertiary pollutant (D) None of these
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61.

62.

63.

1121

#TT 2Lt —

(A) 2ireifims 75 (B) Ot w2 ()PP ae (D) 9T%a FAMDE 7
PAN w1t @ 38 —

(A) wrafe gy (B) %= Ug® (©)gfw® ugwas (D) & af grga
Which of the following is not true about HIV?

(A) It weakness the immune system

(B) It accelerates the spread of tuberculosis

(C) It is caused by a virus

(D) It is spread by mere physical contact

HIV @2 cwga farane @it #fer =3 ¢
(A) afb @t eifSrars TP 169 I (B) @i 771 aieoia R walfes o
(C) «ft iz s et (D) aft *ffaw =ioda sy fary Reifae zx

Frfafag w2l o7 @ife HIV ar |9 8

(A) T immune system @TE Gad GA19

(B) I¥e BIRIT (tuberculosis) B TTeg 4896
(C) T HIEREP! PR §0

(D) A wrEmRY RIS wEEERT B
Biodiversity is important because

(A) We depend on it for food and other items

(B) We enjoy it

(C) We depend on it for medicine

(D) All of these

Fiq tafoay ewged T -

(A) st =g € Sty el oy «fbta Som easin
(B) «fb STz SARes T

(C) Bxea Ty «foz o wrwan gz =

(D) araz =T

Fa R g sod FRoT &)

(A) BT e S e amrfEesr el @ R el
(B) IWERT PN ST= 1T 76}

(C) it sitwefiant fselt e Pz el

(D) wwde wd

Carrying capacity is

(A) The number of individuals environmental carries
(B) The minimum number of individuals that environment can sustain

(C) The maximum number of individuals that environment can sustain
(D) None of these
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65.

67.

1121

2% S| (Carrying capacity) 201 —

(A) @b #ffira Foef 3 9% (Individuals) T F0S AT
(B) T% (¥ e 03 et @l #ifHee 4 S0 #AA

(C) Sitwes @ A a3 Tyl @fb offfrae el F0e =it

(D) <73 ICAIDE 73

78 &waT (Carrying capacity) W=l & 9300

(A) TR WUH fEs®! wEHE

(B) aafderEe®! Fream e

(C) AfTEea Afyem W W uRewe Wy 9P

(D) wif¥rer B ufy gig

While travelling by bus, where will you throw the plastic wrapper from your packed food?
(A) Out of the window (B) Under the seat

(C) Beside the seat (D) Keep it in your bog and throw in dustbin
U0 e 2w S A IR A Ao R (IGE RO (P ?

(A) it faca AR (B) Ficha o=

(C) o =fieet (D) ot A3 G2 PR CPBRCA CFL (A ;
T AT e e TR wifes YR wE wWiey ue

(A) fagiare aife

(B) Rrear 3

(C) faemr BaAT

(D) ST AR afs G dustbin # FAIHY T8

CFCs are used as

(A) refrigerants (B) insulators (C) aerosol propellants (D) all of these
CFC I3%¢ @& —

(A) RftFeieS & (B) Tovieiva foimea

(C) A (@ATTS & (D) ¥4 ¥7aF L

CFC &1 Wi %8l §9 —

(A) XporewHn (B) S=greAT (C) Wrere woigaEHr (D) JifdraT Fant

An example of an abiotic component

(A) Plants (B) Soil (C) Animals (D) Bacteria
e o Bwiead 20T —

(A) Sfen (B) =5 (C) & (D) o
FNAF Ted B TSl SRR B

(A) SafiE (B) #TEY (©) g (D) Sfrare

The one-horned rhinoceros is now restricted to which State?

(A) Maharashtra (B) Gujarat (C) Assam (D) Uttar Pradesh
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G W G QU ACE FAET

(A) 228 (B) @1 (C) =R (D) Tz eiv

s Ryt e after weer woumr w13 wfafg u

(A) HERTSS (B) ToRra (C) 3™ (D) ST udw
68.  All species on earth together with their environments collectively comprise

(A) Lithosphere (B) Hydrosphere (C) Atmosphere (D) Biosphere

TS e SIS O A AARATF GF0 T T —

(A) Freaifet (B) zrRwsifram (C) @b (D) s

ﬂmmmmmmwmwmm

(A) ®IFAvSH (B) SiciHvsH (C) argavSe (D) SraHvSH
69.  The place where nuclear disaster took place

(A) Washington (B) Chernobyl (C) Bhopal (D) London

1 SRS 2zre) wefb WohrE —

(A) R (B) G Q)3 (D) 7%=

0w et avEr] faver wual

(A) Washington (B) Chernobyl (C) Bhopal (D) London

70. The main energy source for the environment is
(A) Chemical energy (B) Bioelectric energy (C) Electrical energy (D) Solar energy

Aferarera eiufw *fe= Tes 2t —
(A) Fmafae = (B) Aic-Zreaflie e (C) Rige *fe (D) Ga e
ATERTST HEA SOl S &
(A) THTafE S (B) 919 fagfee swi (C) Rgfte swi (D) €k gt

TA: What is desertification?

(A) Conversion of forests into desert (B) Conversion of croplands into desert
(C) Conversion of grassland into desert (D) All of these
e B 9
(A) TR g RTS TR (B) *Pigfim srrgfite o
(C) g Trgfine @i (D) itz 3aa b2
TR B B 2
(A) TSP FEGRAT TR (B) Ty woHAH TR
(C) T FFqfA Uy (D) 7! H&
72.  Which one of the following problems is not created by noise pollution?
(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation
e e = wETeE TR 2 A 2
(A) et (B) Tt #&b1 (C) et (D) IR
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73.

74.

75.

76.

77.

fFrfaiea @7 9w @it @ ggeor a1 sRve gaa — .

(A) UR@rel (Diarrhoea) (B) §= &wad (Hypertension)
(C) &1 & (Deafness) (D) f&a@® &= (Irritation)
trees shed their leaves during dry winters
(A) Evergreen (B) Deciduous (C) Coniferous (D) Thom forests
it Mo ot 2 —
(A) fozwige (B) cefgam (C) wRF (D) ¥%5% 3&
TEEvel geadr Riasred ues RS —
(A) HETER (B) ST (C) gftyomfe (D) Ffer v
Which one is nature’s cleaner?
(A) Consumer (B) Producer
(C) Symbionts (D) Decomposers and Scavengers
e @i egfen #fmee o
(A) 2w (B) Besirr (C) rarrs (D) Rrres e Free™
gpfae qer T 8 —
(A) ST (B) STE® (C) il (D) 3IEEs I A
Extensive planting of trees to increase forest cover is called
(A) Agroforestry (B) Afforestation (C) Deforestation (D) Social forestry
Tl g Srween AR TR e —

(A) Sicat #Ta g (B) SUTRCATH*IH (C) fewtartes (D) GiMiTe T
T ST aeree A 2ns g8 e wrders 9o —

(A) B arfFar (B) arfi&vA (C) a==meT (D) wrIfora arfaiat
Air pollution is severe in

(A) Metro cities (B) Industrial areas  (C) Densely populated area (D) All of these

TR R A B ~

(A) F2I5= (B) Feremwes

(C) ¥ Trwaife) sems (D) a7z ¥R

S ary AE-AES —

(A) HEFTRESH (B) 3irenfirs vzgem

(C) AR® TRIET WO BT (D) Suga wa

Animal dung is waste

(A) Biodegradable (B) Toxic (C) Non-biodegradable (D) Hazardous
i1} 3% Y 2E I8 —

(A) Srarfarey (B) e (C) =-Srfcares (D) 9 =

JIETH] Hel BleX 8
(A) vt AfRfreeia (B) fAwg (C) sifas ARfFSNT (D) @av=TH
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78.  Green Revolution is associated with ’ )
(A) Aquaculture (B) Pisciculture (C) Agriculture (D) Sericulture
v e AR ow e -
(A) ST FEHE (B) P wEnE (C) B8 SR (D) =13 518
eRa wifte vew  —
(A) Wt EEfia (B) Ao Wada R () Pt R (D) YErardt
79.  Bears are usually hunted and killed for their
(A) Teeth (B) Skin (C) Nails (D) Internal organs
R ) SIS PR T 2 A -
(A) W (B) 5171 (C) 7 (D) SreTeR o
e Rew 3t g g7 arvre ffg e -
(A) Era®! @t (B) BT @Y
(C) =t @it (D) Pt (sr=afte) it @it

80.  The complex network of inter connected food chains is called__

T (1 wbe wres e fefers 3@ -

(A) Mfs v (B) =) wiE (C) e Prfis
THT IJBE A WEA—HGA B A Hedw A8 B 7Y ?
(A) 2fe wR (B) &rE e

() nRfefas fafre (D) wiRRerfers swen
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(A) Trophic level (B) Food Web (C) Ecological Pyramid (D) Ecology Chain

(D) gl =aE




